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QUESTION 1

-- Exhibit -

-- Exhibit -Click the Exhibit button to view the exhibit. 

Review the exhibit. Which command generated the output shown? 

A. ping 

B. get route 

C. traceroute 

D. get route ip 

E. get interface 

Correct Answer: D 

 

QUESTION 2

Which method should be used to verify that NAT-src translation is occurring? 

A. Run the get sa command. 

B. Run the get nat command. 

C. Run the get policy command. 

D. Run the get session command. 

Correct Answer: D 
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QUESTION 3

Which two statements are correct regarding tasks that can be performed only by the root administrator? (Choose two.) 

A. Reset command. 

B. Create virtual systems. 

C. Deactivate asset recovery. 

D. Create local administrators. 

Correct Answer: CD 

 

QUESTION 4

How is Diffie-Hellman referred to when it is used in IKE phase 2? 

A. PFA 

B. PFS 

C. SCS 

D. SFS 

Correct Answer: B 

 

QUESTION 5

What are two benefits of configuring a ScreenOS device in transparent mode? (Choose two.) 

A. There is no need to reconfigure the IP addresses of routers or protected servers. 

B. There is no need to create MIPs or VIPs for incoming traffic to reach protected servers. 

C. Policies are easier to create since you do not have to include source and destination IP addresses. 

D. The product can support more VPNs and obtain greater throughput because there is less overhead to manage. 

Correct Answer: AB 
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